
F[`mâÑ aÞ]ÔÐ`ÑW hÍwÐaórÞ `eÑlÐ

H`ÍÞm 10, 2022

`Í\c `dÔàÐ¯ - NZÞ[

jc¯-1O 15cÞ `ËÀà jÕMÔÐ-100

`ÍÒ[ÔL `Íhðe cËmÔ 10 _cée

1. aràcÐ_ `Ð\à aÐ`Ð* a¯j [Ð a¯je QÐeÞNÊZ Ð d]Þ 30 aià `Òe `Ð\àe a¯j [Ð aÐ`Ð* a¯je @^Ð ÒkB\Þa, [Ð'ÒkÒm Db¯* 

a¯j ÒLÒ[?

2. ]r QÞ[ÍÒe d]Þ jaÊWÐeÊ jÐ_ aNàÒl[Íe Òl[Í$f 4 aNà cÞ kÊH, 

Ò[Òa jaÊWÐeÊ aX aNàÒl[Íe Òl[Í$f ÒLÒ[?

3. 1000 e jaÊWÐeÊ _ÞLVarÑà ]ÊBVÞ jÕMÔÐ dÐkÐ 3, 5 J 7 ]éÐeÐ aÞbÐSÔ, @\Q 11 Òe bÐN LÒm bÐNÒhi 1 eÒk, Òj ]ÊBVÞ 

jÕMÔÐe jc½Þ ÒLÒ[?

4. SÒZ Ò]ÐLÐ_Ñ 6 `ÔÐÒLVç Lmc 720 V*ÐÒe LÞZÞ _ÞS`ÐBÜ ÒNÐÒV `ÔÐÒLVç eMÞÒm Ð @ahÞ½ LmcLÊ `ÔÐÒLVç `ÞRÐ ÒLÒ[ V*ÐÒe

aÞLÞÒm [Ð*e jcË]Ð¯ Mnà D`Òe h[LXÐ 10 mÐb Òka?

5. ÒNÐÒV R@-@* aÞhÞ½ jÕMÔÐ M 4 3 4 M 0 Òe M dÐNÐÒe ÒLDÜ @* eMÞÒm jÕMÔÐVÞ 36 ]éÐeÐ aÞbÐSÔ Òka?

6. ÒNÐÒV jÕMÔÐe ]ÊBNÊZ ÒjB jÕMÔÐe @^ÐWÐeÊ 45 ÒahÞ Ð jÕMÔÐVÞ ÒLÒ[?

7. eÐc ÒNÐÒV OeLÊ 8 ]Þ_Òe e= Ò]Òm, ÒNÐ`Ðf ÒjkÞ OeLÊ 10 ]Þ_Òe e= Ò]B`ÐÒe Ð d]Þ ]ÊBSZ cÞfÞcÞhÞ @_Ô HL aX OeLÊ 40 

]Þ_Òe e= ]Þ@«Þ, ÒjkÞ aX OeLÊ eÐc HLÊVÞA ÒLÒ[ ]Þ_Òe jÐeÞ `ÐeÞa?

8. bÞ_ð a¯je 5VÞ `ÞmÐ \ÞÒm Ð jaÊWÊÜ jÐ_ `ÞmÐe a¯j 8 aià Ð aX QÐeÞSZ* kÐeÐkÐeÞ a¯j d]Þ jÐ_ QÐeÞSZ* kÐeÐkÐeÞ a¯j WÐeÊ

3 aià ÒahÞ ÒkÐB\ÐH, [Ð'ÒkÒm jaÊWÊÜ aX Þ̀mÐe a¯j ÒLÒ[?

9. d]Ê ÒLÒ[ÐVÞ aÊYÞAZÑ J ÒNÐaeÒ`ÐL ÒNÐÒV dÐNÐÒe eMÞ\ÞmÐ Ð aÊYÞAZÑe 8VÞ ÒNÐX J ÒNÐaeÒ`ÐLe 6VÞ ÒNÐX Ð d]Þ jaÊ aÊYÞAZÑ

J ÒNÐaeÒ`ÐLe jÕMÔÐ 16 HaÕ jcÊ]Ð¯ ÒNÐX jÕMÔÐ 120 ÒkÐB\ÐH, Ò[Òa ÒLDÜ\ÞeÊ ÒLÒ[ÐVÞ \ÞÒm?

10. d]Þ ]ÊBVÞ jÕMÔÐ a J b e jc½Þ, N.jÐ.NÊ. J m.jÐ.NÊ. d\ÐLÍÒc x, y J z ÒkÐB\ÐH, [ÐÒkÒm Òj ]ÊBVÞ jÕMÔÐe aNàe jc½Þ

(a2+b2) ÒLÒ[? _ÞcðÒe `Í]r QÞ[ÍLÊ mlÔ LÒm (a2+b2) LÊ x, y J z Òe `eÞZ[ LeÞÒka Ð
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1. The age of Partha’s father is 4 times his age, and in 30 years, Partha’s age will be half of his 

father’s age. How old are they now?

2. If the area of the smallest square is 4 m2, what is the area of the largest square?

3. What is the sum of the 2 closest numbers to 1000 that are divisible by 3, 5 and 7, and leaves a 

remainder of 1 when divided by 11?

4. A seller bought 6 packets of pens for Rs 720 and kept one packet for himself.  How much 

should the seller sell each packet for to make a 10% profit on the total cost?

5. There is a number: M434M0. What digit must be substituted for ‘M’ to make it divisible by 36?

6. There is a number whose double is greater than its half by 45. What is this number?

7. Rama takes 8 days to paint a house that Gopal takes 10 days to finish. If both take 40 days to 

finish painting a bigger house together, how long would each of them take to finish the work 

individually?

8. There are five boys in a group with the youngest being 8 years old. If the average age of the 

four oldest boys is 3 years more than the average age the four youngest boys, find the age of the 

oldest boy.

9. Navin collected some spiders and beetles, sixteen in total, into a little box. A spider has 8 legs 

and a beetle has 6 legs. When he counted he found that there were altogether 120 legs. Find the 

number of spiders and beetles in the collection.

10. There are two numbers: a and b. If the sum, the H.C.F. and the L.C.M. of these two numbers are 

X, Y and Z respectively, find the sum of the squares (a2+b2) of these two numbers.  Hint: Look 

at the given diagram closely to get the answer.
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1. aràcÐ_ `Ð\à aÐ`Ð* a¯j [Ð a¯je 7NÊZ Ð d]Þ 25 aià `Òe `Ð\àe a¯j [Ð aÐ`Ð* a¯je @^Ð ÒkB\Þa, [Ð'ÒkÒm Db¯* a¯j

ÒLÒ[?

2. ]r QÞ[ÍÒe d]Þ jaÊWÐeÊ jÐ_ aNàÒl[Íe Òl[Í$f 4 aNà cÞ kÊH, 

Ò[Òa jaÊWÐeÊ aX aNàÒl[Íe Òl[Í$f ÒLÒ[?

3. 1000 e jaÊWÐeÊ _ÞLVarÑà ]ÊBVÞ jÕMÔÐ dÐkÐ 3, 5 J 7 ]éÐeÐ aÞbÐSÔ, @\Q 11 Òe bÐN LÒm bÐNÒhi 1 eÒk, Òj ]ÊBVÞ 

jÕMÔÐe jc½Þ ÒLÒ[?

4. SÒZ Ò]ÐLÐ_Ñ 6 `ÔÐÒLVç Lmc 720 V*ÐÒe LÞZÞ _ÞS`ÐBÜ ÒNÐÒV `ÔÐÒLVç eMÞÒm Ð @ahÞ½ LmcLÊ `ÔÐÒLVç `ÞRÐ ÒLÒ[ V*ÐÒe

aÞLÞÒm [Ð*e jcË]Ð¯ Mnà D`Òe h[LXÐ 10 mÐb Òka?

5. ÒNÐÒV R@-@* aÞhÞ½ jÕMÔÐ M 4 3 4 M 0 Òe M dÐNÐÒe ÒLDÜ @* eMÞÒm jÕMÔÐVÞ 24 ]éÐeÐ aÞbÐSÔ Òka?

6. ÒNÐÒV jÕMÔÐe ]ÊBNÊZ ÒjB jÕMÔÐe @^ÐWÐeÊ 45 ÒahÞ Ð jÕMÔÐVÞ ÒLÒ[?

7. eÐc ÒNÐÒV OeLÊ 8 ]Þ_Òe e= Ò]Òm, ÒNÐ`Ðf ÒjkÞ OeLÊ 10 ]Þ_Òe e= Ò]B`ÐÒe Ð d]Þ ]ÊBSZ cÞfÞcÞhÞ @_Ô HL aX OeLÊ 40 

]Þ_Òe e= ]Þ@«Þ, ÒjkÞ aX OeLÊ eÐc HLÊVÞA ÒLÒ[ ]Þ_Òe jÐeÞ `ÐeÞa?

8. bÞ_ð a¯je 5VÞ `ÞmÐ \ÞÒm Ð jaÊWÊÜ jÐ_ `ÞmÐe a¯j 8 aià Ð aX QÐeÞSZ* kÐeÐkÐeÞ a¯j d]Þ jÐ_ QÐeÞSZ* kÐeÐkÐeÞ a¯j WÐeÊ

3 aià ÒahÞ ÒkÐB\ÐH, [Ð'ÒkÒm jaÊWÊÜ aX Þ̀mÐe a¯j ÒLÒ[?

9. d]Ê ÒLÒ[ÐVÞ aÊYÞAZÑ J ÒNÐaeÒ`ÐL ÒNÐÒV dÐNÐÒe eMÞ\ÞmÐ Ð aÊYÞAZÑe 8VÞ ÒNÐX J ÒNÐaeÒ`ÐLe 6VÞ ÒNÐX Ð d]Þ jaÊ aÊYÞAZÑ

J ÒNÐaeÒ`ÐLe jÕMÔÐ 24 HaÕ jcÊ]Ð¯ ÒNÐX jÕMÔÐ 180 ÒkÐB\ÐH, Ò[Òa ÒLDÜ\ÞeÊ ÒLÒ[ÐVÞ \ÞÒm?

10. d]Þ ]ÊBVÞ jÕMÔÐ a J b e jc½Þ, N.jÐ.NÊ. J m.jÐ.NÊ. d\ÐLÍÒc x, y J z ÒkÐB\ÐH, [ÐÒkÒm Òj ]ÊBVÞ jÕMÔÐe aNàe jc½Þ

(a2+b2) ÒLÒ[? _ÞcðÒe `Í]r QÞ[ÍLÊ mlÔ LÒm (a2+b2) LÊ x, y J z Òe `eÞZ[ LeÞÒka Ð
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